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ENGLISH

(i) Comprehension
(i) Parts of Speech

(@) Article (b) Noun and Pronoun
(c) Adjective (d) Preposition
(e) Conjunction and modals
(iii) Verbs
(iv) Tenses
(@) Present/past forms (b) Simple/continuous form
(c) Perfect forms (d)  Future time reference.

(v) Sentence Structure

(vi) Type of Sentences
(@) Affirmative/interrogative sentences (b) Use of Phrases

(c) Direct and Indirect speech (d) Active and Passive Voice
(vii) Other Areas
(@) Idioms and Phrases (b)  Synonyms and antonyms

(c) One word substitution
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going to the pillar box in the street. The total effort
that would occupy a busy man for three minutes, all
told, many in this fashion leave another person
completely exhausted after a day of doubt, anxiety
and toll.

27. What does the expression ‘pillar box’ stand

18. T B % A B0 1 A0 e B 82
(a) 360° (b) 260°
(c) 180° (d) 90°

19. 3 Gl F . 9. 3 q. T. FHE: 84 IR
21 ®1 = I st o egue 104 ®, A
T HE&A H T s
(a) 84 (b) 105
(c) 63 (d) 85

20. 4x—6=3x/4+ 20,x="?
(@) 6 (b) 7
(c)5 (d)8

21, Wfthehel TR Sfeh e HiesT geTie g

%,E%H?Tm%%?

(a) STHEM (b) faver
(c) AP (d) PR
22, TUA-FERE I 37
(a) Tfterhe dfdedaR (b) NI Bl
(c) PR (d) B A
23. frfafad § 9 SF-1 SiRfeT faey 78 22
(a) @TENEE (b) SR
c) fa~s™ d) s
24. frfafed § 9 S9-91 @RS feara &t
I &2
(@) <U ) s e
ORSEIS] @ 3 a9
25, e T[S I W o 7 R
(a) PraTel (b) ST
(c) e (d) PR

26. We saw a man/from the mist/but we could
not/see who he was.
(a) see who he was (b) We saw a man
(c) but we could not (d) from the mist

Directions (Q. Nos. 27 and 36) Read the

passage carefully and choose the correct answer

from the given alternatives.

Work expands so as to till the time available for its

completion. The general recognition of this fact is

shown in the proverbial phrase, it is the busiest man

who has time to spare. Thus, an elderly lady at

leisure can spend the entire day writing a postcard

to her niece. An hour will be spent in finding the
postcard, another hunting for spectacles, half an
hour to search for the address, and hour and a
quarter in composition and twenty minutes in

deciding whether or not to take an umbrella when

for?

(a) A pillar types post box

(b) A box in the pillar

(c) Box office

(d) A box attached to the pillar

28. Explain the sentence: Work expands so as to
fill the time available for its completion.

(a) The more work there is to be done the more the
time needed.

(b) If you have more time, you can do more work.

(c) Whatever time is available, the work will use all
of it.

(d) It you have some important work to do, you
should

29. What is the total time spent by the elderly
lady in writing a postcard?

(a) an hour (b) An entire day
(c) Four hours (d) Three minutes

30. Who is the person likely to take more time to

do work?

(a) An elderly person

(b) A busy man

(c) An exhausted person
(d) A man of leisure

31. What happens when the time to be spent on

some work increases?

(a) The work is done smoothly

(b) The work consumes all the time
(c) The work is done leisurely

(d) The work needs additional time.

32. Rearrange the jumbled words into a
meaningful sentence: Is cheaper between gold
silver the latter and
(a) Gold and silver between the latter is cheaper.
(b) Between gold and silver, the latter is cheaper.
(c) None of these
(d) The latter is gold and silver cheaper between

33. For some time after

1:

P : it was commonly assumed

Q : the treaty of versailles

R : that Germany had caused World War I by
itself.

: by scholars and laymen alike

: and by encouraging Italy in its aggression.
(@ QPRS  (b) SPQR  (c) PRQS  (d) QPSR

o 2
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34. Write synonym of Defect.
(a) Shortcoming (b) Delicate
c) Harm (d) Loss

35. 1: By all standards.

(

1

P : belonging to this district

Q : particularly to those

R : innocent people of this hilly state
nature’s punishment to the

S:

6 : has been inordinately cural.
(a) PRQS
I

(a

(c

(b) RPSQ  (c) SQRP  (d) SRQP
36. I have to make ........ humble proposal.
) a (b) an

) The (d) None of these

Directions (Q. Nos. 37 and 50) Read the
passage carefully and choose the correct answer
from the given alternatives.

Kitchen garden today is driven by both aesthetics
and necessity. A great variety of vegetables are
combined with herbs, annual and perennial flowers
and fruit trees in creative ways. Concept of Kitchen
garden dates back to several thousand years. By
2700 B. C, the Egyptians had a recorded history of
growing over 500 herbs, which were used as drugs to
cure illness. In today’s India herbal plants are the
new entrants in Indian gardens. An is cities, people
mostly reside in high rise apartments, kitchen
garden in roofs or terraces are coming up where pot
culture is the current trend. Today herbs in the
kitchen garden are appreciated for their beauty and
their use in healthcare. Chefs use herbs to liven
their dishes. So, herbs in Indian kitchen garden is
coexisting with annual and perennial flowers.

37. The Egyptians had grown herbs
(a) Used as drugs to cure illness
(b) Used for religious purpose
(c) Used for insecurity and lawlessness
(d) Used for beautification of their cities

38. In today’s time the kitchen gardens are
(a) For selling and profit
(b) Aesthetics and need based
(c) None of these
(d) For hobby

39. At present kitchen gardens are appreciated

a) to have competition and rest.

b) to rest and beauty care in garden

c) supply the medicines to market.

d) for their beauty and their use in healthcare.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

What is the meaning of perennial?

(a) Mortal (b) Lasting

(c) Ending (d) Everlasting
What are the new entrants in the Indian
gardens?

(a) Flowers baskets
(c) India herbal plants

(b) Pot culture
(d) Perennial flowers

After her long illness she is trying her best to

make ........... her deficiency in studies
(@) up for (b) none of these
(c) out (d) for

I don’t usually like staying hotels/but last
summer spent a few days/a very nice hotel by
sea/No error

(a) No error

(b) but last summer we spent few days

(c) at a very nice hotel by sea

(d) I don’t usually like staying at hotels

What does he do? He sells ........ cars
(@) An (b) A

(c) No article needed (d) The

Write synonym of intervention

(a) Dislocate (b) Interchange
(c) Interference (d) Connection
T.... not stand before you.

(@) None of these (b) dareing

(c) dare (d) dares
......... fan which you gave me, is lost.
(a) The

(b) A

(c) A

(d) None of the above

Find out the alternative which is the most
opposite in meaning of the word. TOIL

(@) Vivid

(b) Laborious task

(c) Sloth

(d) Strive

One who is in charge of a museumis a ........
(a) supervisor (b) curator

(c) warden (d) caretaker

The success of the/merger of the two/banks is
dependence/on various factors.

(a) banks is dependence
(b) The success of the
(c) on various factors

(d) merger of the two
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13.

14.

15.

16.

17.

18.

19.

(a)23.3 x23 + 1001 = ?
? = 5359 + 100.1

= 636
(da+b="
? = b + a (%7 fafa fam )
(o) HET EAT = 10x + y

x+y=8 ()

TSGR, 3idh gael IR a1 el
10y +x=10x + y+ 18
9y - 9x =18
x—y=-2 .. (i)
H () T (i) DT ST R,
2x =6
x=3
y=5
I AT =10x3+ 5= 35
(o) fam B, wwags & fa@oi o, = 10 |
d, = 8 |

. 1 -
. AT BT &THA = faepull &1 T[orThe

:%x10x8:4o®fﬁ2

(@ 15x + 4=3x + 8
156 —3x=8-4

12x =4
4 1

X = =
12 3
(c) B SIMA & & F¥Yst & 9 SIvl &1 I 180°
B gl
(a) AT QI WY B9 x 3R 4x B
e §, Al & o, 4. = 84
qen . 9. =21
B S § 5 Q1 Sell @1 UHhe 96 o, 9.
IR A. F. P PHBA & IRER eIl gl
x x 4x =84 x21
4x% = 84 x 21
x% =21 %21
x =21
I: TSI AT = 4 x21 = 84
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22.

23.
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25.

26.

27.

28.

29.

30.

31.

32.

33.
34.
35.
36.
37.
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1
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(c) Ithdrel TRAR SiIfh WIgel hlesx gale gl
¥ 9 ISP bed Bl 99 GoR HISW ERT SAgHH
TR e wRd 8 O 599 Fwfad I fhartad
(Execute) B1 STl Bl

(b) TOSIARERY T BIe g I TN HFgey &
RN, WIgQAR, 9, SioM saife & 9™ & fu
BIdT 31 SETERUI-McAfee, AVast, AVG 3T

(b) ARBA JATRFET Red Tl Bl I8 U Seed
FoTHUe AredaR B
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$EIERY B, S STl B W) ®7 I W B o
() fa=srst Fvgex &t mnfH W T2 gl faves
TE AT Rived B o forelt Fvger & awgof

fepareherat o1 fRafesd oedr Bl

(d) The preposition 'in' is appropriate to be used with
'the mist'. Hence, replace ‘from the mist’ with 'in the mist'
to make the sentence grammatically correct.

(a) The expression 'pillar box refers to a pillar-shaped
letter or post box. Hence, option (a) is the correct
answer.

(c) The given sentence means that whatever time a
person has, his/her work will take all of it.

(b) An elderly lady at leisure will spend an entire day in
writing a post card.

(d) A person at leisure is more likely to take more time to
do a work than a busy person.

(c) When the time to be spent on some work increases,
the work is done leisurely and it uses all the time.

(b) The correct sentence is - ‘Between gold and silver,
the latter is cheaper'.
(d) The correct sequence is QPSR.

a) ‘Defect’ means a shortcoming, imperfection, or lack.

‘

)

)
d) The correct sequence is SRQP.
a) ‘a’ is appropriate to fill the blank.

(
(
(
(a) The Egyptains had grown over 500 herbs, which
were used as drugs to cure illness.



38.

39.

40.

41.

42.

(b) In today’s time, the herbs in kitchen garden are

appreciated for their beauty and their use in healthcare.

Hence, option (b) is the correct answer.

(d) At present, the kitchen gardens are appreciated for
their beauty and their use in healthcare. Hence, option
(d) is the correct answer.

(d) ‘Perennial’ means lasting or existing for a long or
apparently infinite time. Hence, its meaning is
‘everlasting’.

(c) The new entrants in the Indian gardens are herbal
plants.
(a) ‘To make up for something’ means to compensate

for something lost, missed, or deficient. Hence, ‘up for’
is appropriate to fill the blank.

43.

44,
45,

46.
47.
48.

49.
50.

3Mifhf3rgeT 3iieirs dfere e

(c) The given sentence contains the error of article.
Replace ‘by sea’ with ‘by the sea’ to make the sentence
error free and grammatically correct.

(c) The given sentence does not need an article.

(c) ‘Intervention’ means interfering in other people's
business. Hence, ‘interference’ is its synonym.

(c) ‘Dare’ is appropriate to fill the blank.
(a) ‘The' is appropriate to fill the blank.

(c) ‘Toil' means to work extremely hard or incessantly.
Hence, ‘sloth’ meaning laziness is its antonym.

(b) One who is in charge of a museum is a ‘curator’.

(a) Replace ‘dependence’ with ‘dependent’ to make the
sentence grammatically correct.
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10. €9 aeh 9 ey iEe 1 A 7

(a) NO (b) N,0
(c) N0 (d) N,Sci
11. HEET 1 AR R T STl 82
(a) CD (b) CPU
(c) A (d) T few=h
12. BRI e TRHYA B WY fRy
W B
(a) SR (b) 3T
(c) BT (d) =R
13. /= § Q F9-91 0T ¥ gEfed 77
(a) TR (b) T-HA
(c) UPS (d) TreTEe

14. fre1 8 9 fopl wrogeX o1 frame et S €2

(a) =AST TR (b) STE® S
(c) BLE By (d) =Ted des
15. fre1 § ¥ HiH-91 WA H THR 82
(a) Foem WiRaTR (b) STTFERT WFEaR
(c) TfHT WiweaeR  (d) 3 @t

16. Th o < 120 H @ 3Rz 160 T o= T, 6@
A wfeerd B

(a) 20% (b) 40%  (c) 30%  (d) 33%%
17. 18:2::3:5
()30 (b)20 ()60  (d) 10

18. AfS 3/4 0 FHM T+ T 600 T AT =l
2, A T =0 T Femart 22
(a) 2400 (b) T 1200
(c) T 3600 (d) 4800

19. =% DE-T-D TE&, 5 2402 T 9 oM W

ol o A o S
(a) 4 (b) 6
(c) 7 (d) 1

20. T% P w e u N 2 s 7, AR R &
ST H | I HH H QY W, A = 23 | S
2, B % ster e & 1 A0 R B
(a)14  (b)16 (c) 18 (d) 21

21. x*+ 27 % TOFETE

(@) (x+3) (x> + 9+ 3%)

(b) (x=3) (x* + 9+ 3x)

(€) (x+3) (x* + 9-3x)

(d) (x=3) (x*+9-3x

22. x,x+2,x+43TWﬁ'@qTﬁ'%,?ﬁx$TW
T R?
(a) 3 (b) 2 (c) 11 (d) 17

23. afc A=1{2,4,6,7},B=1{6,7,8,9}, MB - 4
T B

(a) {2, 4} (b) {2, 7}
(c) {8, 9} (d) {2, 8}
24, @A 18, 17, x, 23, 29 1 GG 23 ¥, A x
A ©
(a) 27 (b) 28
(c) 31 (d) 33

25. T 100 H o GRS T fostelt & @e
1 20 YhvE T IR HT &, A LTSl i =
1 B2
(a) 5 TopHi/=oaT
(c) 25 femHi/=reT

(b) 20 TeHi/=T
(d) 18 fpHi/=ma
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Directions (Q. Nos. 26-30) Read the passage carefully
and choose the correct answer from the given
alternatives.

There was a time when the aged were revered in
India as symbols of tradition, respect, wisdom and
experience. They controlled and guided the destinies
of all the members of joint families. Urbanisation
and industrialisation has led to the breaking up of
the joint family system. The disintegration of joint
families has had an adverse impact on the elderly
people. Many elderly people get neglected because of

the nuclear setup of families. The aged are now
viewed as a useless and non-productive entity.

Modernisation has led to the degradation of their
status and authority. Their existence as integral part
of the family is now uprooted.

With the decline in their functional position as the
head of the family, they have lost their authority,
respect and prestige they used to command earlier.
The changing values and the dependence of the aged
on their sons and daughters-in-law has complicated
the problems.
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The aged are marginalised, alienated and left out of
mainstream. Neglect, lack of respect, verbal taunts,
inter-actional stress and increasing gap in
communication make the aged feel unwanted and
unpleasant entities. The only peaceful place for these
weak, sad and depressed people in the evening of
their lives are the homes of the aged. Under the
existing circumstances, the need for old age homes
has certainly increased and they have become a must
for the elderly to lead a peaceful and happy life
among those who share and care for them.

26. Urbanisation and industrialisation has led to
(a) neglect and stress
(b) degradation of the families
(c) break up of joint family set-up
(d) non-productive entity

27. Elderly people are getting neglected
(a) because of the joint family system
(b) because of nuclear set-up of families
(c) because of their age
(d) because of their ailing health

28. We should behave more responsibly and
revise our
(a) past
(b) moral values
(c) behaviour and conduct
(d) strengths and weakness

29. The only peaceful place left for the aged is

(a) their native place
(b) their parents home
(c) old age home

(d) orphanage

30. Who were seen as symbols of tradition,
respect and experience?
(a) The palatial buildings
(b) The aged

(¢) The new generation

(d)

d) Joint families

Directions (Q. Nos. 31-35) Read the passage carefully
and choose the correct answer from the given
alternatives.

The modern youth are more intelligent and
hardworking than the previous generations. They
have more facilities for education and they do utilise
them. But they lack proper direction. In the absence
of proper guidance, young boys and girls go on
increasing their academic qualifications. Some of

3

them secure high percentage of marks whereas most
of them get average or below average marks. Since,
the number of aspirants for a job is much higher
than the number of vacancies, most of the young
boys and girls do not get any employment. This
causes the problems of the educated unemployment
and depression among the youth.

The problem of the educated unemployed can be
solved partly through proper guidance and
counselling and partly through grooming .Young
students often disregard the advice of their parents
and go on imitating their peers. This sets in the
chain of the blind leading the blind.

Uneducated or semi-educated parents think of
academic qualification as achievement. Young
students must seek the advice of the school
counsellors and select a course of studies that suits
their aptitude. Instead of pursuit of academic
excellence, they must go in for proficiency in
technical field of information technology, computers,
biotechnology, biochemistry and consumer services.
In this way, their youthful energy will get directed
in the proper channel and they may get fruitful
employment or become competent enough to launch
their own project and give employment to others.

31. Whatis the positive aspect of today’s
generation?
(a) They are more intelligent and hardworking
(b) They are more into fashion and time pass
(c) They have the power to work less and get
more
(d) The youth now knows what he has to do

32. Academic qualification is seen as an
achieve- ment which adds to the problem
due to
(a) uneducated or semi-educated parents

(b) increase in the urge of getting higher
remunerations

(c) lack of focus and attention
(d) disillusionment and depression

33. Frustration, irritation, anger, indiscipline,
arrogance, disillusionment and depression
are all the result of
(a) growing modernisation
(b) educated unemployment
(c) aspirations not meeting goals
(d) lack of grooming and counselling
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34.

35.
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Suggest a suitable title for this extract.
(a) Educated Unemployed

(b) Education- A Revolution

(c) Fight for Power

(d) Professionalism

Identify the correct statement.

(a) Young students must seek the advice of
the school counsellors to select a course.

(b) Young students must take a course which
their friends are opting for.

(c) Young students must take a course as
suggested by their parents.

(d) Young students get the employment
casily.

Directions (Q. Nos. 36-38) Fill in the blanks using

the correct article.

36. Dr. Radhakrishnanwas ............ more
famous philosopher than a politician.
(a) the (b) an
(c)a (d) No article

37, higher you go, ............. colder it is.
(a) a, the (b) The, the
(c)a, an (d) an, the

38. The eggs are sold by ............. dozen.
(a)a (b) an
(c) the (d) No article

39. Rearrange the following in the correct

40.

sequence to form a meaningful sentence.
A : for some time

B : which is troublesome

C : the weather becomes cool and pleasant
D : though there is humidity in it

(a) CBAD (b) DBAC

(c) ACBD (d) CADB

Arrange the given in a logical order to form a
meaningful sentence.
P : often disheartened Q : face failures
R : when we S : we are

Directions (Q. Nos. 41-43) Following sentence is
divided into four parts. One part of the sentence contains
an error. Indicate the part which has an error.

41.

42.

43.

The vaccine (a)/ when hit the Indian market
(b)/is dogged by controversy. (c)/No
error (d)

His son (a)/is working (b)/ very hardly. (c)/
No error (d)

The company has ordered (a)/ some (b)/
new equipments. (c)/ No error (d)

Directions (Q. Nos. 44-46) Fill in the blanks with the
correct word from the given options.

44,

45.

46.

We should go .......... doing more good than
harm.

(a) on (b) above

(c) about (d) to

When we go home last evening, we found
that the guest ............... .

(a) have arrived
(c) is arriving

(b) has arriving
(d) had arrived

Hypocrites try to ............ appearances.
(a) keep upon
(c) keep up

(b) keep over
(d) keep away

Directions (Q. Nos. 47-48) Choose the correct
synonym for the given words.

47.

48.

Invariable
(a) Usual
(c) Constant

(b) Universal
(d) Similar
Eternal

(a) Innumerable
(c) Prolonged

(b) Unmeasurable
(d) Perpetual

Directions (Q. Nos. 49-50) Choose the correct
antonym for the given words.

49.

50.

Focus

(a) Disappear (b) Disperse
(c) Link (d) Layer
Equilibrium

(a) Work out (b) Disturb

(c) Imbalance (d) Unevenness



